Finding The Cost — Subtraction Sheet

£1.20 £3.50 £2.80 £1.90
bananas flowers coffee sandwich

20p
tomato juice bread

£3.20 £4.30 £1.80
eggs chicken cereal

How much more does the chicken cost than the
Eggs b. bread c. bacon

2. Sammi has a £10 voucher
How much would be left over if she bought
a. Flowers and coffee b. sandwich and chicken c. cereal and tomato?

3. To revise our addition of money, check the total of each calculation and correct the ones
that are wrong

A B C D

Flowers 3.50 Jam 1.30 Juice  0.70 Bacon 2.10
Chicken 4.30 Chicken 4.30 Eggs 3.20 Bread 0.90
Tomato 0.20 Cereal _1.80 Bananas 1.20 Flowers 3.50




